= 0.2 ~ 0.2
8 :/|\> E 4
A 0.15 E0.15F e deeen b e e
<3 g r
’\"I’ 0.1 v 0.1:— -------------------------------
0.05 0.05f--------egmememeee et T
0 (0] SRR EPEES EEPEPPERPERPF AR
-0.05 —0.05f e rere i
-0.1 —0. - T
—-0.15] =015 -
_9_-0\»’2 9_-0\»’2: " |||||||! " |||||||! "
T T r
14 14 [
1 i iR A A 000 0 R

: 0.95 .
-1 2 3 -1
10 1 TPl[g)T (PCA t%obeamlinélf) 10 1

—=— DQM_CKF_TTbase
—— DQM_CKF_TT_retrainOldFiles125_v2_prelimWPM_epoch4
— 100,

=
o
o

€ E°F

3 B = 80_— ---------------------------------------------
N I A L

Y I A B GOt

o - < r

v L \% 40_— """"""""""""""""

. 5 : : )
A0 ---rrrmrie e ) AARRRRRARE AALRRRRALER E
r : : =20 e

T I :

[ ++ , )| SRR T !
| I SO L L. SRR Y0 =ETTTTTRR F
[T O T | | I I 4 100F it vl bbil

Ratio

: o :
—1 —1 2 3
10 ! 10 ! TPlp?T (PCA tjbobeamliné'f)

<op/p, > (70)

1071 1

I : 2 3
TPlpg)T (PCA t%)obeamlin%)o



	Contents
	Page 1


